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1. The meaning of Kantaka Shodhana

Court is :

(A) Civil Court

(B) Criminal Court

(C) Special Court to try criminals

(D) Tribunal

2. According to Aristotle, slave and

animals cannot form the state

because :

(A) They are extremely weak

(B) They have no share in the life

of free choice

(C) They enjoy subservient position

(D) They lack intelligence

1. daVd 'kks/ku U;k;ky; Eg.kts %

(A) fnok.kh U;k;ky;

(B) xqUgsxkjh U;k;ky;

(C) xqUgsxkjkauk f'k{kk dj.kkjs fo'ks"k U;k;ky;

(D) U;k;k/khdj.k

2. vWfjLVkVyP;k ers xqyke vkf.k i'kq jkT;kP;k

Hkkx gksow 'kdr ukghr] dkj.k %

(A) rs [kwi detksj vkgsr

(B) R;kauk eqDri.ks fuoM dj.;kph Lokra´;

ulrs

(C) R;kauk nq∏;e ntkZph LFkku vkoMyh

(D) rs cqºheŸksuss dedqor vlrkr
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3. Who said it ‘give unto God that

belonged to God, give unto king that

belonged to king’ ?

(A) Pope Gelasius

(B) Saint Paul

(C) Jesus Christ

(D) Saint Augustine

4. Who opposed the secret ballot and

proposed open ballots system ?

(A) T. H. Green

(B) J.S. Mill

(C) Bentham

(D) Hegel

5. Lenin was of the opinion that in

revolutionary politics :

(A) Cities should encircle villages

(B) There should be alliance of

workers and farmers

(C) Villages should encircle cities

(D) Peasants should be vanguard of

revolution.

3. ^ts nsokps vkgs rs nsokl ns] ts jktkps vkgs

rs jktkl ns* vls dks.k Eg.kkys %

(A) iksi xsysf'k;l

(B) lsaV ikWy

(C) ;s'kq f[kzLr

(D) lsaV vkWxfLVu

4. xqIr ernku iºrhy fojks/k d:u [kqY;k ernku

iºrhpk dks.kh iqjLdkj dsyk \

(A) Vh- ,p- xzhu

(B) ts- ,l- feˇ

(C) csUFke

(D) gsxsy

5. ysfuuP;k ers ÿkafrdkjd jktdkj.kkr %

(A) 'kgjkauh xzkeh.k Hkkxkl os<wu Vkdkos

(B) dkexkj o 'ksrdjh ;kaph vk?kkMh djkoh

(C) [ksMÓkauh 'kgjkal osBwu Vkdkos

(D) 'ksrdjh ÿkarhps vxzny vlkosr
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6. Which one of the following is the

credo of post-behaviourism ?

(A) Value relativism

(B) Value neutralism

(C) Relevance and change

(D) Relevance and stability

7. Mao Tse Tung’s theory of three

worlds consists of :

(A) U.S.A., China and Afro Asian

countries

(B) U.S.A. and West Europe, Soviet

Union and East Europe and

Countries of Asia, Africa and

Latin America

(C) U.S.A. and U.S.S.R., West

Europe and East Europe and

Asia, Africa and Latin America

(D) U.S.A. and China, U.S.S.R and

India, Africa and Asia

6. [kkyhyiSdh dks.krs rŸo mŸkj O;ogkjoknkps

/;s;lw= vkgs \

(A) ewY; lkis{krkokn

(B) ewY; fujis{krkokn

(C) izLrqrrk o cny

(D) izLrqrrk o LFkS;Z

7. ekvks Rls rqaxizf.kr rhu txkaP;k flºkarkr

[kkyhyiSdh dks.kR;k jk"V™lewgkapk lekos'k

gksrks \

(A) vesfjdk] phu o v›ks&vkf'k;kbZ ns'k

(B) vesfjdk o i- ;qjksi] lksfo;r la?k o

iwoZ ;qjksi] vkf'k;kbZ ns'k] vf›dk o yWfVu

vesfjdk

(C) vesfjdk o lksfo;r la?k] if'pe o

iwoZ ;qjksi o vkf'k;k] vf›dk o yWfVu

vesfjdk

(D) vesfjdk o phu] lksfo;r la?k o Hkkjr

vf›dk o vkf'k;k
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8. Who said it, ‘Graded inequality is

the hindrance in establishing social

democracy in India’ :

(A) M.G. Ranade

(B) Dr. B.R. Ambedkar

(C) M.N. Roy

(D) M.K. Gandhi

9. Which of the following is a

libertarian thinker ?

(A) Michael Walzer

(B) Ronald Dworkin

(C) Robert Nozic

(D) Syla Benhabib

10. Which one of the following pairs is

correctly matched ?

(A) Cultural Revolution —Trotsky

(B) Passive Revolution —Gramsci

(C) Permanent revolution —

Mao Tse Tung

(D) ‘Jasmin’ revolution —

G.A. Nasser

8. ^Hkkjrkrhy Js.khcº fo"kerk gk lkekftd

yksd'kkgh LFkkiusP;k ekxkZrhy vMFkˇk

vkgs-* vls dks.k Eg.kkys \

(A) ,e- th- jkuMs

(B) MkW- ch- vkj- vkacsMdj

(C) ,e- ,u- jkW;

(D) ,e- ds- xka/kh

9. [kkyhyiSdh dks.krk fopkjoar Lora=rkoknh

vkgs \

(A) ek;dsy okY>j

(B) jksukYM MkWdhZu

(C) jkWcVZ ukW>hd

(D) 'kSyk csugchc

10. [kkyhyiSdh dks.krh tksMh ;ksX; izdkjs

tq̌ o.;kr vkyh vkgs \

(A) lkaLœfrd ÿkarh µ V™kWV~Ldh

(B) vdj.kkRed ÿkarh µ xzke~lh

(C) dk;eLo:ih ÿkarh µ ekvks Rls rqax

(D) ^tkfLeu* ÿkarh µ th- ,- uklsj
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11. Who among the following adopted

decision-making approach to study

power ?

(A) Gabriel Almond

(B) Sydney Verba

(C) Robert Dahl

(D) David Easton

12. In which country the option of

replacing the ‘first past the post’

system was rejected recently ?

(A) U.S.A.

(B) India

(C) England

(D) France

13. A feature of the semi-presidential

system is :

(A) The President’s powers are

shared by the speaker of the

Lower House

(B) The President is elected by the

people and the Prime Minister

is responsible to the Parliament

(C) There is provision of President

at the centre and Presidents of

Republic

(D) There is a collegiate that

performs the role of the

President

11. jktdh; lŸkspk vH;kl&djrkuk [kkyhyiSdh

dk s. kR;k vH;kldku s fu.k Z;&fu/kk Z j.k

n`f"Vdksukpk voyac dsyk vkgs \

(A) xWfcz,y vkeaM

(B) flMus OgckZ

(C) jkWcVZ Mky

(D) MsfOgM bZLVu

12. ^QLVZ ikLV n iksLV* O;oLFkk cny.;kpk i;kZ;

uqdrkp dks.kR;k ns'kkr QsVkˇyk xsyk \

(A) vesfjdk

(B) Hkkjr

(C) baXyaM

(D) ›kUl

13. fuev/;{kh; O;oLFksps ,d oSf'k"VÓ Eg.kts %

(A) dfu"B lHkkx`gkpk lHkkirh jk"V™k/;{kkaP;k

lŸkse/;s lgHkkxh gksrks

(B) jk"V™k/;{k gk yksdkauh fuoMysyk vlrks

vkf.k iariz/kku gk lalnsyk tckcnkj

vlrks

(C) ds aÊke/k s  vkf.k i ztklŸkkdk ae/k sgh

v/;{kinkph rjrwn vlrs

(D) v/;{k eaMˇ jk"V™k/;{kkps dk;Z ikj

ikMrs
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14. In the traditional political system,

authority is legitimised through :

(A) Election

(B) Selection

(C) Consecration

(D) Conquest

15. Who has initiated reforms in the

composition of House of Lords in

England ?

(A) Swaraj Paul

(B) Bhiku Parekh

(C) Meghnad Desai

(D) Adam Patel

16. One of the reasons for the erosion

of parliamentary sovereignty is :

(A) Formation of coalition

governments

(B) Globalisation

(C) Decline of imperialism

(D) Decline of Bi-cameralism

14. ikjaifjd jktdh; O;oLFkse/ks vf/klŸksps

vf/kekU;hdj.k d'kk}kjs gksrs \

(A) fuokZpu

(B) fuoM

(C) jkT;kfHk"ksd

(D) ;qºkrhy fot;

15. baXyaMP;k gk≈l vkWQ ykWMZ~lP;k jpusr

[kkyhyiSdh dks.kh lq/kkj.kka lqpfoY;k vkgsr \

(A) Lojkt ikWy

(B) fHk[kq ikjs[k

(C) es?kukn nslkbZ

(D) ,- iVsy

16. lalnh; lkoZHkkSeRo fojr tk.;kps ,d dkj.k

Eg.kts %

(A) vk?kkMh ljdkjkaph LFkkiuk

(B) tkxfrdhdj.k

(C) lkezkT;oknkpk Úgkl

(D) f}&lHkkx̀goknkpk Úgkl
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17. Who is the author of the book,

‘The Cabinet Government’ ?

(A) Walter Bagehot

(B) Ivor Jennings

(C) Allan Ball

(D) S.E. Finer

18. Which one of the following is NOT

a federal state ?

(A) USA

(B) India

(C) Sri Lanka

(D) Pakistan

19. The semi-Presidential system is

found in :

(A) USA

(B) UK

(C) India

(D) Russia

17. ^n dWfcusV xOges±V* ;k iqLrdkps ys[kd dks.k

vkgsr \

(A) okWYVj csxgkWV

(B) vk;oj tsfuaXt

(C) vWyu ckWy

(D) ,l- b- Qk;uj

18. [kkyhyiSdh dks.krk ns'k la?kjkT; ukgh \

(A) vesfjdk

(B) Hkkjr

(C) Jhyadk

(D) ikfdLrku

19. fue&v/;{kh; O;oLFkk dksBs vkgs \

(A) vesfjdk

(B) ;quk;VsM fdaXMe

(C) Hkkjr

(D) jf'k;k
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20. Who among the following

emphasized ‘structural differen-

tiations’ and ‘secularization of

culture’ as the important indicators

of political development ?

(A) Lucian Pye

(B) Organski

(C) Almond and Powell

(D) Huntington

21. Who among the following,

conceptualized “Modern, traditional

and saintly idioms” for

understanding Indian politics ?

(A) W.H. Morris-Jones

(B) Robert Hardgrave

(C) Myron Weiner

(D) Stanley Kochanek

22. Who is the author of ‘India : The

Most Dangerous Decade’ ?

(A) Robert Hardgrave

(B) James Manor

(C) Seilig Harrison

(D) Craig Baxter

20. [kkyhyiSdh dks.kR;k vH;kldkus jktdh;

fodklkps fun s'kd Eg.k wu ^jpukRed

foHkkxhdj.k* vkf.k ^laLœrhps ,sfgdhdj.k

;k ?kVdkaoj Hkj fnyk vkgs \

(A) Y;qfl;u ik;

(B) vkWj~xWULdh

(C) vkeaM vkf.k ikWoš

(D) gafVax~Vu

21. Hkkjrh; jktdkj.k letwu ?k s.;klkBh

[kkyhyiSdh dks.kh ^vk/kqfud] ikjaifjd vkf.k

larRo ifjHkk"kk* okijyh vkgs \

(A) MCY;w- ,p- ekWfjl&tksUl

(B) jkWcVZ gkMZxzso

(C) ek;ju ok;uj

(D) LVWUyh, dkspkusd

22. ^^bafM;k % n eksLV Msatjl fMdsM** gs iqLrd

dks.kh fyfgys \

(A) jkWcVZ gkMZxzso

(B) tsLe eWukWj

(C) lsfyx gWfjlu

(D) ÿsx cWDLVj
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23. The preamble is :

(A) a part of the constitution

(B) not a part of the constitution

(C) the last chapter of the

constitution

(D) a part of the directive principles

of state policy

24. Public interest litigation can be filed

by :

(A) affected party

(B) the judge

(C) the third party

(D) the state

25. Article 370 of the Indian

Constitution defines the relationship

between the Indian Union and :

(A) Nagaland

(B) Punjab

(C) Jharkhand

(D) Jammu and Kashmir

26. Fundamental duties are added in

Indian Constitution by :

(A) 39th Amendment

(B) 40th Amendment

(C) 41st Amendment

(D) 42nd Amendment

23. ljukek gk %

(A) jkT;?kVuspk ,d Hkkx vkgs

(B) jkT;?kVuspk Hkkx ukgh

(C) jkT;?kVusps 'ksoVps izdj.k vkgs

(D) jkT;kP;k ekxZn'kZd rRokapk ,d Hkkx vkgs

24. tufgr ;kfpd dq.kk }kjs nk[ky dsyh tk≈

'kdrs \

(A) ckf/kr i{kdkj

(B) U;k;k/kh'k

(C) =;LFk O;fDr@i{k

(D) jkT;laLFkk

25. Hkkjrh; jkT;?kVusps 370os dye Hkkjrh;
la?kjkT; vkf.k [kkyhyiSdh dk s.kR;k
jkT;ke/;slaca/k izLFkkfir djrs \

(A) ukxky°M

(B) iatkc

(C) >kj[kaM

(D) tEew vkf.k dk'kehj

26. Hkkjrh; jkT;?kVus e/;s ewyHkwr drZO;kapk

lekos'k dks.kR;k ?kVuk nq:Lrhus dsyk \

(A) 39oh ?kVuknq:Lrh

(B) 40oh ?kVuknq:Lrh

(C) 41oh ?kVuknq:Lrh

(D) 42oh ?kVuknq:Lrh
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27. Hkkjrh; jkT;?kVusP;k lanHkkZr /keZfujis{krk

Eg.kts %

(A) jkT;laLFksyk /keZfo"k;d dk;ns dj.;kl

eukbZ

(B) jkT;laLFksph œrh vkf.k /keZ ;kaph Qkjdr

(C) /keZxq:auk jktdkj.kkr Hkkx ?ks.;kl canh

(D) jkT;laLFkk /kekZP;k vk/kkjkoj HksnHkko

djr ukgh

28. jkT;?kVusrhy ekyeŸkspk ewyHkwr gDd dks.kR;k

?kVuknq:Lrh eq̌ s Hkkjrh; jkT;?kVusP;k frlÚ;k

izdj.kkrwu dk<yk xsyk \

(A) 41oh ?kVukn#Lrh

(B) 42oh ?kVuknq#Lrh

(C) 43oh ?kVuknq#Lrh

(D) 44oh ?kVuknq#Lrh

29. ljdkfj;k vk;ksxkph use.kwd dks.kke/khy

laca/kkpk vk<kok ?ks.;klkBh >kyh \

(A) iar iz/kku vkf.k jk"V™irh

(B) yksdlHkk vkf.k jkT;lHkk

(C) ?kVd jkT;kae/khy ijLijlaca/k

(D) dsaÊ vkf.k ?kVd jkT;kae/kys laca/k

27. Secularism in the context of Indian

Constitution means :

(A) State is prohibited from making

laws on religion

(B) State actions are to be separated

from religion

(C) Heads of religions are not

allowed to take part in politics

(D) State does not discriminate on

the ground of religion

28. Right to property was removed from

Part III of the Indian Constitution

by :

(A) 41st Amendment

(B) 42nd Amendment

(C) 43rd Amendment

(D) 44th Amendment

29. Sarkaria Commission was appointed

to look into the relations between :

(A) the Prime Minister and the

President

(B) the Lok Sabha and Rajya Sabha

(C) the States and the States

(D) the Centre and the States
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30. Who among the following is the

subaltern peasant historian ?

(A) David Hardiman

(B) Eric Stokes

(C) Jan Bremen

(D) Kathleen Gough

31. Which of the following statements

is true as regards Central Vigilance

Commission ?

(A) The jurisdiction of the

Commission does not cover Non-

gazetted officers of the

Government.

(B) The jurisdiction of the

Commission does not cover

Gazetted officers.

(C) The jurisdiction of the

Commission does not cover

ministers and members of the

Parliaments.

(D) The commission submits its

report to the Parliament.

30. [kkyhyiSdh dks.k fuEuLrjh; 'ksrdÚ;kapk

bfrgklkps rTK vkgsr \

(A) MsfoM gkMhZeku

(B) ,fjd LVksd~l

(C) tku czsesu

(D) dWFkyhu xkWx

31. dsaÊh; n{krk vk;ksxkckcr iq<hyiSdh dks.krs

fo/kku cjkscj vkgs \

(A) vjktif=r vf/kdkÚ;kapk vk;ksxkpk

dk;Z{ks=kr lekos'k gksr ukgh-

(B) vk;k sxkP;k dk;Z{k s=kr 'kklukP;k

jktif=r vf/kdkÚ;kapk lekos'k gksr ukgh-

(C) vk;ksxkP;k dk;Z{ks=kr ea=h vkf.k lklnkj

;sr ukghr-

(D) vk;ksx vkiyk vgoky lalnsyk lknj

djrs-
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32. Which of the following names is

associated with New Public

Administration ?

(A) Woodrow Wilson

(B) Dwight Waldo

(C) L.D. White

(D) F.W. Taylor

33. Development Administration is :

(A) Rules bound

(B) Action oriented

(C) Procedure oriented

(D) Standard practices oriented

34. Classical theory of organisation is

also known as :

(A) Mechanistic theory

(B) Behavioural theory

(C) Psychological theory

(D) Human relations theory

35. Which of the following is a ‘line’

function ?

(A) Advising

(B) Fact finding

(C) Executing

(D) Planning

32. iq<hyiSdh dks.kkps uko ^^uoyksdiz'kkluk**

'kh lacaf/kr vkgs \

(A) oqM™ks foYlu

(B) M~okbV oky~Mw

(C) ,y~- Mh- OgkbV

(D) ,Q~- MCY;w- Vsyj

33. fodkl iz'kklu iq<hyiSdh ,d vlrs %

(A) fu;ekauh cº

(B) œrh vfHkeq[k

(C) dk;Ziºrh vfHkeq[k

(D) izekf.kr iºrh vfHkeq[k

34. la?kVukP;k vfHktkr flºkUrkyk iq<hyiSdh ,d

Eg.kwu vkš [kys tkrs %

(A) ;kaf=d flºkUr

(B) orZuoknh flºkUr

(C) ekul'kkL=h; flºkUr

(D) ekuoh laca/k flºkUr

35. iq<hyiSdh dks.krs ,d ^js"kk* dk;Z vkgs \

(A) lYykns.ks

(B) oLrqfLFkrh 'kks/ku

(C) vaeyotko.kh

(D) fu;kstu
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36. Union Public Service Commission in

India is NOT concerned with :

(A) Making appointments to civil

services.

(B) Consultation relating to

recruitment to civil services.

(C) Disciplinary matters affecting

central government employees.

(D) Principles to be followed in

making appointment to civil

services.

37. The vacancies of the staff side of the

National Whitley Council in the

U.K. are filled by :

(A) The King

(B) The Prime Minister

(C) The Government

(D) The staff side itself

38. Which of the following statements

is correct as regards estimates

committee of Indian parliament ?

(A) The committee consists of 15

members.

(B) The committee is set up after

every 5 years.

(C) The committee consists of equal

members from Lok Sabha and

Rajya Sabha.

(D) Minister cannot be appointed on

the committee.

36. Hkkjrkrhy la?k yksdlsok vk;ksxkpk iq<hyiSdh

d'kk'kh laca/k ulrks \

(A) ukxjh lsodkaP;k fu;qDR;k dj.ks

(B) ukxjh lsodkaP;k HkjrhlkBh lYyk

ns.ks

(C) dsaÊ 'kkldh; lsodka'kh lacaf/kr f'kLrhP;k

ckch

(D) ukxjh lsok aP;k fu;qDR;k djrkuk

ikˇko;kph rRos

37. baXyaMP;k uW'kuy fOgVys dkSfUly e/khy lsodka

rQsZ Hkjko;kP;k tkxk dks.k Hkjrks\

(A) jktk

(B) iariz/kku

(C) 'kklu

(D) lsodkarQsZ

38. Hk kjrkrhy laln sP;k vankt lferh

ckcr iq<hyiSdh dks.krs fo/kku cjkscj

vkgs \

(A) lferhr 15 lHkkln vlrkr

(B) nj 5 o"kk±uh lferh LFkkiu dsyh

tkrs

(C) lferhr yksd lHkk o jkT; lHkk ;krhy

leku lHkkln vlrkr

(D) eá ;kph lferhoj fu;qDrh djrk ;sr ukgh
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39. Right from the beginning, the most

contentious issue regarding the

creation of the institution of Lokpal

has been :

(A) his pay and allowances

(B) his tenure

(C) his jurisdiction

(D) his qualifications

40. “Good Governance’ stresses” :

(A) Bureaucratization

(B) Centralisation

(C) Accountability

(D) Abolition of government

41. Which one of the following is a

tangible element of power ?

(A) System of Government

(B) Social Coherence

(C) Military Strength

(D) Political Leadership

42. Who appoints the UN Secretary

General ?

(A) General Assembly and Security

Council

(B) Security Council and Economic

and Social Council

(C) Economic and Social Council

and International Court of

Justice

(D) International Court of Justice

and General Assembly

39. izFkeiklwupk ^yk sdiky* ;k laLFk sP;k

fufeZrhrhy lokZr fook| eqÌk iq<hyiSdh dks.krk
vkgs \

(A) R;kps osru o HkŸks

(B) R;kpk dk;Zdky

(C) R;kph dk;Zd{kk

(D) R;kph ik=rk

40. ^lq'kklu O;ogkj* d'kkoj Hkj nsrs \

(A) uksdj'kkghdj.k
(B) dsaÊhdj.k
(C) mŸkjnkf;Ro

(D) 'kklu u"V dj.ks

41. lŸkspk [kkyhyiSdh dks.krk ?kVd ifjek.khdj.k
djrk ;s.;klkj[kk ?kVd vkgs \

(A) 'kklu O;oLFkk

(B) lektkpk ,dftulhi.kk

(C) y"djh lkeF;Z

(D) jktdh; usr`Ro

42. la;qDr jk"V™kaP;k egklfpokaph use.kwd dks.k

djrkr \

(A) vkelHkk vkf.k lqj{kk ifj"kn

(B) lqj{kk ifj"kn vkf.k vkfFkZd o lkekftd

ifj"kn

(C) vkfFkZd o lkekftd ifj"kn vkf.k

vkarjjk"V™h; U;k;ky;

(D) vkarjjk"V™h; U;k;ky; vkf.k vkelHkk
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43. The turning point of the cold war

is considered as :

(A) Korean War

(B) Cuban Missiles Crisis

(C) Division of Germany

(D) Vietnam War

44. Which of the of the following is the

functional norm of the ASEAN ?

(A) Consultation and consensus

(B) Institutionalised procedures of

decision-making

(C) Principle of majority

(D) Principle of unanimity

45. SAFTA is the economic arm of :

(A) SAARC

(B) ASEAN

(C) EU

(D) NATO

43. [kkyhyiSdh dks.krs 'khr;qºkrhy egŸokps oˇ.k

vkgs \

(A) dksfj;u ;qº

(B) D;qckrhy {ksi.kkL= ispizlax

(C) teZuhps foHkktu

(D) fo,ruke ;qº

44. [kkyhyiSdh dk s.kr s rŸo vkfl;kuP;k

dk;Ziºrhps rŸo dks.krs vkgs \

(A) lYykelyr vkf.k lgerh

(B) fu.kZ; ?ks.;kP;k laLFkhœr izfÿ;k

(C) cgqerkps rŸo

(D) ,derkps rŸo

45. lk∂Vk (SAFTA) gh dks.kkph vkfFkZd la?kVuk

vkgs \

(A) lkdZ (SAARC)

(B) vkfl;ku (ASEAN)

(C) ;qjksih; ;qfu;u (EU)

(D) ukVks (NATO)
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46. Which of the following is an

indicator of the post cold war

Atlantic divide in international

relations ?

(A) The chief of the IMF is

a European and the chief of

the World Bank is an

American.

(B) The US dollar is appreciating

but the Euro is depreciating.

(C) The US and the EU are

competing with each other

to invite investment from

China.

(D) The US and the EU have

opposing views on subsidies on

Agriculture in the WTO.

47. The Nineteenth century European

balance of power system is known

as :

(A) Bipolar system

(B) Multipolar system

(C) Unipolar system

(D) Non-polar system

48. Which of the following pairs is

correct ?

(A) Hans Morgenthau — Realist theory

(B) Immanuel Wallerstein — Game theory

(C) Kenneth Waltz — Behaviourism

(D) Andre Gunder Frank — Critical theory

46. [kkyhyiSdh dks.krh 'khr;qºksŸkj vVykafVd

njhaps ,d funsZ'kd vkgs \

(A) vkarjjk"V™h; uk.ksfu/khP;k izeq[k inh
;qjksih; O;fDr vlrs rj tkxfrd
c°dsP;k izeq[kinh vesfjdu O;fDr
vlrs-

(B) vesfjdh MkWyjps ewY; ok<rs vkgs i.k
;qjksps ewY; deh gksr vkgs-

(C) phue/k wu x q aro.k wd vk.k.;klkBh
;qjksi vkf.k vesfjdk ;kaP;kr Li/kkZ pkyw
vkgs-

(D) tkxfrd O;kikj la?kVu se/k s 'k srh
ojhy vFkZlkgk∏;kP;k lanHkkZr vesfjdk
vkf.k ;qjksi ;kaP;k ijLij fojks/kh Hkwfedk

vkgsr-

47. ,dksf.klkO;k 'krdkrhy ;qjksikrhy lŸkk
larqyukl dk; Eg.krkr \

(A) f}/kzqoh; O;oLFkk

(B) cgq/kzqoh; O;oLFkk

(C) ,d/kzqoh; O;oLFkk

(D) fcxj&/kqzoh; O;oLFkk

48. [kkyhyiSdh dks.krh tksMh cjkscj tqˇoyh

vkgs \

(A) gkUl ekWxsZUFkkW µ okLrooknh flºkar

(B) bekU;q,y okWyjLVkbu µ [ksˇ flºkar

(C) dsusFk okWy~V> µ orZuokn

(D) vkaÊs xqanj ›WUd µ fpfdRld flºkar
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49. Which of the following is not an

underlying principle of India’s

foreign policy ?

(A) Peaceful coexistence

(B) Making military pacts

(C) Non-intervention

(D) Sovereign-equality of nation

states

50. Which of the following correctly

describes the aims of India’s look east

policy ?

(A) Expansion of trade,

containment of Pakistan,

countering threat of terrorism.

(B) Expansion of trade, energy

security, security of North-East

India.

(C) Energy security, competition

with China, containment of

Pakistan.

(D) Expansion of trade, competition

with China, containing

US influence in the Indian

Ocean.

49. [kkyhyiSdh dks.krs rŸo HkkjrkP;k ijjk"V™

/kksj.kkps vk/kkjHkwr rŸo ukgh \

(A) 'kkarrke; lgthou

(B) y"djh djkj dj.ks

(C) gLr{ksi u dj.ks

(D) jk"V™jkT;kaph lkoZHkkSe lekurk

50. [kkyhyiSdh dks.krs o.kZu HkkjrkP;k iwokZfHkeq[k

ijjk"V ™/kk sj.kkph mfÌ"Vk ap s ;k sX; o.k Zu

vkgs \

(A) O;kikjo`fº] ikfdLrkuoj fu;a=.k]

ng'kroknkP;k /kksD;kpk lkeuk-

(B) O;kikjo`fº] ≈tsZph lqj{kk] bZ'kkU;&

Hkkjrkph lqj{kk-

(C) ≈tsZph lqj{kk] phu'kh Li/kkZ] ikfdLrkuoj

fu;a=.k-

(D) O;kikjo`fº] phu'kh Li/kkZ] vesfjdspk

fganh egklkxjkojhy izHkko fu;af=r

dj.ks-
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